# **Alkimos College**





# ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 15th December 2023 Using "DMT6" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

### PREPACKAGED DELIVERY SERVICE

Your home delivery will be dispatched for free no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before Friday 15th December 2023.

Orders can still be placed after this date for additional cost of up to \$10, however cannot be guaranteed delivery prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



### Please tick the items required in the box provided

Ø

Item

Unit

Total

Item

Qty Office Use Description No. Reqd Reqd Price \$ Amount \$ YEAR NINE **ALL STUDENTS REQUIRE** All students must have the below stationery items with them at each class. Please ensure items are replaced if used or lost. Thank you. PLEASE NOTE: The below calculator is Compulsory. P51933 Calculator Abacus Scientific SXIIMATRIXN 1 1 43.95 43 95 P55520 Eraser Plastic Ink/Pencil Combo Large 2 6.75 6.75 1 P51685 Glue Stick 40gm Artline Clear 3 1 2.75 2.75 P50613 Highlighters Pkt 4 Assorted 4 1 7.70 7.70 P56095 5 Pen Ballpoint Cap Type Blue Medium 4 0.35 1.40 P56096 Pen Ballpoint Cap Type Red Medium 6 4 0.35 1.40 P50271 7 Pencil (HB) Goldfaber 4 0.65 2.60 P56215 Pencil Case 340x170mm Tartan Jumbo 8 3.25 3.25 1 P56252 Pencils-Coloured 12's Colourush 9 1 4.50 4.50 P50090 Ruler 300mm Wooden 10 1 1.10 1.10 P58507 Scissors 155mm Plastic Handle 11 1 2.95 2.95 P56240 Sharpener Pencil Barrel Single Hole (EL) 1.25 1.25 12 1 **ANCHOR** No additional resources required. **CONSTRUCTION ENGINEERING** P56428 Safety Glasses Clear Wrap Around 13 1 6.45 6.45 **DIGITAL TECHNOLOGY** Wired headphones are required for this subject. P55153 Binder Book A4 128 Page 8mm 14 1 2.15 2.15 P51464 Headphones Stereo Deluxe Lightweight with Volume Control 15 11.05 11.05 1 DRAMA P55497 Document Wallet FC Slimpick Red 16 1.10 1.10 **ENGLISH** P55153 Binder Book A4 128 Page 8mm 17 2 2.15 4.30 P65021 Document Wallet FC Polydoc Clear 2 2.50 18 5.00 **FITNESS** A Physical Education Uniform is required and is available from Uniform Concepts. P55153 Binder Book A4 128 Page 8mm 2.15 2.15 19 **FLAVOURFUL FOODS** Students are required to bring a lunchbox or takeaway container to take food home. No additional resources required. **HUMANITIES AND SOCIAL SCIENCE** P55153 Binder Book A4 128 Page 8mm 2 4.30 20 2.15 P55442 Display Book A4 20 Pocket Black Refillable 21 1 2.15 2.15 P65021 Document Wallet FC Polydoc Clear 22 1 2.50 2.50 P55493 Document Wallet FC Slimpick Buff 23 1 1.10 1.10 **JAPANESE** P55158 Binder Book A4 128 Page 8mm Premium with Margin Spirax 24 1 2.15 2.15 P65021 Document Wallet FC Polydoc Clear 25 2.50 2.50 1

# Please tick the items required in the box provided $\downarrow$

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	MATHEMATICS					
P55153	MATHEMATICS	00		0	0.45	4.00
	Binder Book A4 128 Page 8mm	26		2	2.15	4.30
P65021	Document Wallet FC Polydoc Clear	27		1	2.50	2.50
	MEDIA STUDIES Wired headphones are required for this subject.					
P51464	Headphones Stereo Deluxe Lightweight with Volume Control	28		1	11.05	11.05
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	29		1	14.05	14.05
	METALWORK					
P56428	Safety Glasses Clear Wrap Around	30		1	6.45	6.45
	PHYSICAL EDUCATION					
	A Physical Education Uniform is required and is available from Uniform Conce	ots				
	No additional resources required.					
	PHOTOGRAPHY					
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	31		1	14.05	14.05
	ROCK AND CONSOLE					
P55492	Document Wallet FC Slimpick Blue	32		1	1.10	1.10
P50444	Music Book A4 96 Page Ruled & Staved Spirax 244	33		1	2.55	2.55
	SCIENCE					
P55153	Binder Book A4 128 Page 8mm	34		2	2.15	4.30
	SCREEN STORIES					
P55158	Binder Book A4 128 Page 8mm Premium with Margin Spirax	35		1	2.15	2.15
	SPORT AND RECREATION					
	A Physical Education Uniform is required and is available from Uniform Conce	ots.				
P55153	Binder Book A4 128 Page 8mm	36		1	2.15	2.15
	SPORTS PERFORMANCE (TOUCH RUGBY AND AFL)					
	A Physical Education Uniform is required and is available from Uniform Conce	ots.				
P55153	Binder Book A4 128 Page 8mm	37		1	2.15	2.15
	SPORTS PERFORMANCE (NETBALL AND SOCCER)					
	A Physical Education Uniform is required and is available from Uniform Concept	ots.				
P55153	Binder Book A4 128 Page 8mm	38		1	2.15	2.15
	TEENAGE LIVING					
	Students are required to bring a lunchbox or takeaway container to take food h	ome				
	VISUAL ART					
P52478	Eraser Art Gum Soft 25x25x13mm	39		2	1.95	3.90
P56081	Marker Artline #200 Black 0.4mm	40		2	3.80	7.60
P55897	Marker Permanent Ultra Fine 0.3mm Black Sharpie	41		1	3.45	3.45
P52001	Pencil (2B) Goldfaber	42		4	0.65	2.60
P50072	Sketch Book A3 297x420mm 20 Leaf 110gsm Spiral Non/Perf	43		1	12.95	12.95
			_			
P56428	WOODWORK Safety Glasses Clear Wrap Around	44		1	6.45	6.45
-	23.2., Sidosoo Gibai May Modila		_	,	0.40	0.40

## Please tick the items required in the box provided

(PRICES CORRECT AT 14/11/23)

 $\sqrt{\phantom{a}}$ Item

Reqd

Qty

Unit

Reqd Price \$

Total

Amount \$

Item

No.

Number of Boxes ticked: Postage (Home delivery only) \$0.00 **ESTIMATED AMOUNT DUE** <u>\$</u>

Office Use

Description